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Instructions for Candidates

Write your Roll No. on the top immediately on receipt of this question paper.

2. This paper consists of 8 questions.

3. Answer any 5 questions.

4. The marks of each question are written alongside the questions.

5. The use of non-programmable calculators is permitted

6. Answers may be written either in English or in Hindi, but the same medium should
be used throughout the paper.
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1. “The accumulation of productive assets is only a proximate cause of prosperity;
the real cause is progressive institutions.” Explain with reference to the standard

of living in the developed and developing countries. (15)
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2. What are the components of the Human Development Index (HDI) ? Explain why
per capita GDP acts as a good proxy for most development indicators even

though it is not a complete measure of development. (15)
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3. (a) Suppose a country saves 20% of its income and has a capital-output ratio
of 4

(1) Using the Harrod—Domar model calculate the rate of growth of total
output of the country, assuming that capital lives forever.

(i) If the rate of depreciation is 1% per year what would the savings rate
have to be to maintain the same rate of growth of total output as
obtained in part (i) ?

(i) What should be the savings rate in order to achieve a growth rate of
10% p.a. assuming the rate of depreciation as 1% p.a. ?

(tv) If population grows at the rate 2% per year, calculate the rate of per
capita income growth when the savings rate and rate of depreciation
are the same as in part (iii). (8)

(b) What do you understand by a mobility matrix ? Construct an imaginary
mobility matrix for a sample of countries that shows “no mobility” at all.
Draw another for a sample of countries that shows “perfect mobility”.
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4. (a) Discuss the proposition that an inequality measure is consistent with the
Lorenz criterion if and only if it satisfies the anonymity prineiple, population
principle, relative income principle and Dalton principle. Show that the Lorenz

curve satisfies all these principles. )

(b) Draw the Lorenz curve and calculate the Gini coefficient and the coefficient
of variation in an economy where 50 individuals earn Rs. 100 each, 25
individuals earn Rs. 200 each, 75 individuals earn Rs. 300 each and another
25 individuals earn Rs. 400 each. (8)

(%) =8 wead R 99 W R U SOl WO e W9EE @ @ 9§ A Sk
whad ae T8 I e, waen e, anfée J e auon sered
g @ Ay A 21 iy R diew 9 39 i Rer @ dae w2

/ PTO.
|
,'//



5972 4

(@) Fefifa @l @ a1 9% a9d ik fFd Tone vd freRwr oni &6 Tomr
e Fel 39 srieraen ¥ 50 wfdal 9 3 100 T Wi @fdd, 25 N W s
200 T (Y =AfF, 75 AN St @ 300 A Wi AR AR 25 AR AT 400
T iy @t ?

5. Discuss why poverty should be seen as capability deprivation and not just
income deprivation by drawing attention to the evidence of deprivations in the
United States and Europe that relate to indicators such as unemployment and
health. (15)
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6. Describe a model of technical progress that results from externalities. How is the
notion of complementarity different from that of externalities ? (15)
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7. Discuss a theory of linking corruption and development. (15)
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8. “The strategy of unbalanced growth values investment decisions not only for their
immediate contribution to output, but also for their linkages.” Explain how the
different kinds of linkages have had important implications for countries undertaking

to industrialize in the second half of the twentieth century. (15)
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